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Choose the best answer 1,2. 3, or 4

A. Vocabulary
46- We insisted on rich and poor being treated.................
1) same 2) alike 3) similar 4y alive
47-  Does your project ............. have too much detail?
1) miracle 2) exercise 3) schedule 4) nature
48-  For some time he stood in silence ................. whether he should follow him or go away.
1) carrying 2)  considering 3) comparing 4)  collecting
49-  The chef told her to .......... a large onion, and then slice it into very thin, crescent meon shapes.
1) drop 2)  halve 3) pair 4) make
50- Do you know how 0.....cccoeainanne bacteria under a microscope?
1) divide 2) identify 3) donate 4) choose

B. Grammar
Perhaps, you (51)....... able to take a holiday in space! They want to offer 3-day holidays in the (52).......

space station. However, holidays in space will be very expensive! (53)...... the trip is, the more dollars you
should spend on it. About 90,000 dollars for three days! Many firms, in Japan and the USA, want to open
orbiting hotels on the moon! Tomorrow's shuttles will take off and land (54)....... .They will therefore be
) more economical.
51- 1) are going to be 2) will be 3) are 4)  goingto be
52- 1) fantastic new round American 2) American fantastic new round

3) new fantastic round American 4) new fantastic American round
53- 1) The longest - 2) Longest 3)  The longer 4) Longer
54- 1) by their elements 2) by their element 3) on their owns 4) on their own
55- 1) farther 2) very 3) much 4)  lots

C. Cloze Test

Polar bears are the (56)........... carnivores in the world that live on land. They are found in the Arctic and
their preferred (57)...... is on top of the Arctic ice. Here, they (58)....... seals for food, and mate. Polar bears
are very good swimmers, they paddle with their paws. Sadly, polar bears are becoming seriously (59)........ .
Thankfully, many authorities are now working to preserve parts of the Arctic and the wildlife that lives there.
The Great Arctic Reserve, for example, is now a sanctuary for a variety of (60)...... , such as seals, wild
reindeer and foxes.

56- 1) greatest 2) largest 3) main 4 chief

57- 1) surrounding 2) habitat 3) plain 4)  house

58- 1) follow 2) escape 3) chase 4)  hunt

59- 1) endanger 2) dangerous 3) danger 4)  endangered

60- 1) species 2) parts 3) families 4)  groups
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D. Reading Comprehension

Causes of flood

Floods are second only to fire as the most common of all natural disasters. They occur almost everywhere in
the world. So far, the best that scientists can do is to recognize the potential for flooding in certain conditions.
There are a number of conditions, from deep snow on the ground to human error, that cause flooding.

When deep snow melts it creates a large amount of water. If there is a fast snow melt on top of frozen or very
wet ground, flooding is more likely to occur than when the ground is not frozen. Melting snow also relates to
high water levels in rivers and streams. Whenever rivers are already full of water, heavy rains will result in the
rivers overflowing. Rivers that are covered in ice can also lead to flooding.

Although scientists cannot always predict exactly when floods will occur, they do know a lot about when
floods are likely, or probably, going to occur. Deep snow and ice-covered rivers are all strong conditions for
potential flooding. Hopefully, this knowledge of why floods happen can help us reduce the damage they cause.

61-  Which of the following are included as causes for floods in the reading passage?
1) large lakes 2) droughts 3) poorly built roads 4)  melting snow

62- What does “they” in paragraph 3 refer to?
1) floods 2) rivers 3) scientists 4)  conditions

63- Which statement is NOT TRUE about flooding?
1) When the ground is frozen, flooding is more likely to occur.
2) Scientist can never predict exactly when floods will occur.
3) We can reduce the damage of the floods by getting more knowledge.
4) Ice-covered rivers can cause flooding.

64- What is the most common natural disaster?

1) flood 2) fire 3)  wind damage 4)  ram
65- How does melting snow cause problems to flooding?
1) It makes the rivers run too fast. 2) It makes the water too cold.
3) It makes the level of the river rise. 4) It causes pieces of ice to block the river.
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